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OSSR A2 THFY 10,000
SECAZ e2ad 465,000 0 465,000
Fag 372,000
o 93,000
401 AEBIZL LY 465,000 0 465,000
Fag 372,000
= 93,000
01 Al&H| 465,000 0 465,000
rag 372,000
= 93,000
= 0l & 465,000 0 465,000
Fag 372,000
- 93,000
OSSR A 2|22 A 465,000
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SN SSBBY
HM: 2= E (2L /250 =)
9 2HALUSTHAUK D CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Fag 372,000
= 93,000
S22 A 2 Al HH 34,630 25,648 8,982
= 12,816
== 3,845
= 17,969
101 o124 H| 34,630 22,048 12,582
= 12,816
== 3,845
= 17,969
03 RIAHAZZHE 34,630 22,048 12,582
= 12,816
& 3,845
= 17,969
= 0l & 34,630 22,048 12,582
= 12,816
== 3,845
= 17,969
O22Z M3 JNZAIZEAE XA o1
29 34,630
= 12,816
= 3,845
= 17,969
SAEE AHY 2,000 2,000 0
== 1,000
o 1,000
201 B2 A Y| 2,000 2,000 0
== 1,000
= 1,000
01 At 2t2ldl 2,000 2,000 0
== 1,000
= 1,000
= 0l & 2,000 2,000 0
== 1,000
o 1,000
O=AEE Al 2,000
== 1,000
- 1,000
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SN SSBBY
M 2otz E (St /2s0=)
9 2HALUSTHAUK D CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
MOIBAHEIA SUH7S ALY 7,000 0 7,000
= 3,500
= 3,500
307 QIztol ™ 7,000 0 7,000
= 3,500
= 3,500
02 QIZHABAMAMNIEXD 7,000 0 7,000
= 3,500
= 3,500
= 0l & 7,000 0 7,000
& 3,500
i 3,500
Oss=fst 2 MHOISAMAE 2= 7,000
= 3,500
= 3,500
B3NS EAFY 13,600 13,400 200
& 6,800
= 6,800
405 RHatHE SHI 13,600 13,400 200
= 6,800
= 6,800
02 =AY 13,600 13,400 200
= 6,800
= 6,800
= 0l & 13,600 13,400 200
& 6,800
= 6,800
023X T 13,600
& 6,800
= 6,800
DEEA2 222l XA 40,000 40,000 0
403 NXESHSKH201H 40,000 40,000 0
02 ZBI2SOICHe A2 XS E A HI 40,000 40,000 0
= 0l & 40,000 40,000 0
OnHdEMZ =21 40,000
S8 2o 22 115,300 45,900 69,400
307  glztol A 102,000 39,000 63,000
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2N 2Ty
HH: M= E (2L 22/25H0=)
SHol: 2 ALY (69l @
x 5 . 0 & o ol Ao -
SA B S (SH) - MEMY - BES =z T BlRE2
05 QARAES 102,000 35,000 67,000
= Off & 102,000 35,000 67,000
OXAHH2ENZ 2EH XN& 57,500
OsdiHAE2EM2 28 XA 44,500
405  XHaHHESHI 13,300 0 13,300
01 XL 2EFHSHI 13,300 0 13,300
= Off & 13,300 0 13,300
OHAIHHZ2EMZ OIS JII] 7 2,300
OsHHAEZ2EME HMOIS AMAE 2= 11,000
M H2EM2 29 13,000 0 13,000
307 giztold 13,000 0 13,000
02 QUAZBAHAIHEE 13,000 0 13,000
= Off & 13,000 0 13,000
OMOIEE1 A= H X 4,000
OAME H2EM2 23 XI&
3,000,000& *3H 2 9,000
MALE H2E M2 F 40,000 0 40,000
401 AEHIZ=ROYI 40,000 0 40,000
01 Al&Hl 40,000 0 40,000
= 0fl & 40,000 0 40,000
MALYE H2EM2 HIIAE FHUlAY
20,000,000& =14 20,000
OMAMEY HE2E M2 =IE ZHAY
20,000,000 =14l 20,000
Aeld A2 =4 200,000 145,000 55,000
s 98,000
s 102,000
401 AEHIZROYI 200,000 145,000 55,000
s 98,000
= 102,000
01 Al&HI 200,000 145,000 55,000
s 98,000
s 102,000
= Ol & 200,000 145,000 55,000
Fas 98,000
= 102,000
o&elH H2EM2 =4 200,000
s 98,000
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SN SSBBY
M 2otz E (St /2s0=)
o9 2ALUSIAAN D CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
| | z 102,000
M HAMIE 4,000 4,000 0
201  etg| 4,000 4,000 0
01 At 2teltl 4,000 4,000 0
= 0l & 4,000 4,000 0
OHNY Y SYMY AEXT 4,000
M (2L 22 /23H) 3,721,332 4,298,870 A577,538
= 878,667
= 563,680
= 2,278,985
INHKNEZ23M 784,000 2,292,000 A 1,508,000
= 449,200
= 74,610
= 260, 190
NN L SESSMM BExFH (24 WAt 114,000 100,000 14,000
2l EZ H=E=AMY)
= 79,800
= 11,970
= 22,230
401 AIZBIZ =208l 114,000 100,000 14,000
= 79,800
= 11,970
= 22,230
01 AI&EHI 114,000 100,000 14,000
= 79,800
= 11,970
= 22,230
= 0l & 114,000 100,000 14,000
= 79,800
= 11,970
= 22,230
OLNYd WatelDE2 H=ArS 114,000
= 79,800
= 11,970
= 22,230
N2 & SE2SM 234U (20204 1 78,000 0 78,000
o SS02 AL FHUISAH
= 39,000
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SN SSBBY
Hu: 2SN (SHUBY/S )
el NN EZM (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 13,650
= 25,350
401 A&HIZ=20b 78,000 0 78,000
= 39,000
= 13,650
= 25,350
01 Al&HI 78,000 0 78,000
= 39,000
= 13,650
= 25,350
= 0l & 78,000 0 78,000
= 39,000
= 13,650
= 25,350
01nYd s=s0ts A & B3 At 78,000
= 39,000
= 13,650
= 25,350
ZNXNE2SM L S22 B2HH(HAD|E 14,000 8,000 6,000
2 S EsAY)
= 9,800
= 1,470
[ 2,730
206 M=l 14,000 8,000 6,000
= 9,800
& 1,470
= 2,730
01 Mzl 14,000 8,000 6,000
= 9,800
= 1,470
i 2,730
= 0l &F 14,000 8,000 6,000
= 9,800
& 1,470
= 2,730
OXAHIIEE B (S+2lHol7e) 14,000
= 9,800
= 1,470
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2AM: S22
Yy 2 M (2L 2Z/23M)
el NN EZM (o2&
A EY - SA(B) - NS - B o) ) DS
| | z 2,730
ZINXNE2SM & S22 22U (0d &8 420,000 420,000
SNET FUUZ A
= 294,000
= 44,100
i 81,900
401 AEHIZ=ROYI 420,000 420,000
294,000
= 44,100
= 81,900
01 Al&Hl 420,000 420,000
= 294,000
= 44,100
= 81,900
= 0l & 420,000 420,000
= 294,000
= 44,100
= 81,900
O sstsNET FULYZ A 420,000
= 294,000
= 44,100
= 81,900
D& a2l D2 CCTV WM AL 38,000 38,000
= 26,600
= 3,420
i 7,980
401 AEHIZ=R0YI 38,000 38,000
= 26,600
& 3,420
= 7,980
01 Al&HI 38,000 38,000
= 26,600
= 3,420
i 7,980
= 0fl &F 38,000 38,000
= 26,600
& 3,420
= 7,980
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SN

Z st
Yy 2 M (2L 2Z/23M)
el NN EZM (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
OLNd WatelDEa CCTV Wil & 38,000
= 26,600
= 3,420
i 7,980
NN SstSI27 ZEEAANL(FHEA) XA 120,000 0 120,000
401 AI&BIZ =208l 120,000 0 120,000
01 Al&HI 120,000 0 120,000
= 0l & 120,000 0 120,000
Osstsllzx A M= 120,000
SEXNEEM 521,500 1,125,000 A 603,500
= 7,200
= 253,830
i 260,470
SEA AL HAESAL 100,000 420,000 A 320,000
= 50,000
o 50,000
401 AI&BIZ =208 100,000 420,000 A 320,000
& 50,000
= 50,000
01 Al&HI 100,000 394,000 A 294,000
= 50,000
= 50,000
= 0l & 100,000 394,000 A 294,000
& 50,000
= 50,000
OSAEAN YR MHMNMEZ =B AH2R}) 100,000
= 50,000
i 50,000
Sscl NI B At 12,000 10,000 2,000
& 6,000
= 6,000
401 AIZBIZ =208l 12,000 10,000 2,000
= 6,000
= 6,000
01 Al&HI 12,000 10,000 2,000
= 6,000
= 6,000
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SN SSBBY
Hu: 2SN (SHUBY/S )
oSl SN2 (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 0l & 12,000 10,000 2,000
= 6,000
i 6,000
O=3scl A2t olgal ol 12,000
= 6,000
i 6,000
4 it BT HALS 18,000 30,000 A 12,000
= 9,000
= 9,000
401 AI&BIZ =208l 18,000 30,000 A 12,000
& 9,000
= 9,000
01 Al&HI 18,000 30,000 A 12,000
= 9,000
= 9,000
= 0l & 18,000 30,000 A 12,000
& 9,000
= 9,000
OLNH itz =HIHISA 18,000
= 9,000
= 9,000
saHg JEet &4 4,000 7,000 A 3,000
= 1,200
= 2,800
207 A 4,000 7,000 A 3,000
= 1,200
= 2,800
01 H=49H| 4,000 7,000 A 3,000
== 1,200
i 2,800
= 0ff & 4,000 7,000 A 3,000
== 1,200
= 2,800
OFstMz=HEAHA JE Y 4,000
= 1,200
= 2,800
E o] 28T E+3A 75,000 0 75,000

_21_




2AM: S22
Yy 2 M (2L 2Z/23M)
o2l SXNE23M (o2&
A EY - SA(B) - NS - B (X o) ) DS
= 37,500
= 37,500
401 A&HIZ=20b 75,000 75,000
& 37,500
= 37,500
01 Al&HI 75,000 75,000
== 37,500
[ 37,500
= Ofl & 75,000 75,000
= 37,500
= 37,500
OLNH & FE BY B3 A 75,000
= 37,500
= 37,500
4 gl NS B3 A 50,000 50,000
= 25,000
= 25,000
401 AEHIZ=R0YI 50,000 50,000
= 25,000
= 25,000
01 Al&UI 50,000 50,000
= 25,000
= 25,000
= Ol & 50,000 50,000
= 25,000
i 25,000
Oy stEgel MBI B3 At 50,000
& 25,000
= 25,000
4 A0tel A0 =HEHSA 20,000 20,000
& 10,000
= 10,000
401 AEHIZE=ROYI 20,000 20,000
& 10,000
= 10,000
01 Al&HI 20,000 20,000
= 10,000
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SN SSBBY
H: S (SAL2H/S5HH)
e SXNE 23 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
01 Al&HI| = 10,000
= 0l & 20,000 20,000
== 10,000
= 10,000
O1nYd A0tel A0 =HEHU S A 20,000
== 10,000
= 10,000
DH SEA Fdd SXA2ASEAIA FHEUIA 70,000 70,000
&1
== 35,000
o 35,000
401 AEBIL LY 70,000 70,000
== 35,000
= 35,000
01 Al&H| 70,000 70,000
== 35,000
= 35,000
= 0l & 70,000 70,000
== 35,000
o 35,000
O SFAI HegYd SXA2ASBEHA =
HAEY AL 70,000
== 35,000
= 35,000
e HHe S8AIDIF E4Z2A 48,500 48,500
== 24,250
o 24,250
401 AIEHIY20i8] 48,500 48,500
== 24,250
= 24,250
01 Al&HI| 48,500 48,500
o= 24,250
= 24,250
= 0l & 48,500 48,500
== 24,250
o 24,250
OnNd H&el S&A DI B3 At 48,500
== 24,250
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SN
X ZH -
L=

el

ot &0t
M (2L 2Z /23 M)
SXNE 23 (o2&
A EY - SA(B) - NS - B (X o) ) DS
| | z 24,250
20208 = DA WAel SXMESL S HLHE 6,000 6,000
=L
2 1,800
= 1,470
- 2,730
401 AEHIZ=ROYI 6,000 6,000
1,800
= 1,470
= 2,730
01 Al&Hl 6,000 6,000
= 1,800
= 1,470
= 2,730
= 0l & 6,000 6,000
= 1,800
= 1,470
= 2,730
020208 = A WAlel SXM4EELH 23t
THOHLH B EHIAMY 6,000
= 1,800
= 1,470
i 2,730
20208 & 048 AXl2l KNI 23 eHLH 2 & I 6,000 6,000
= 1,800
& 1,470
= 2,730
401 A&BIZ=208I 6,000 6,000
= 1,800
= 1,470
= 2,730
01 Al&HI 6,000 6,000
= 1,800
= 1,470
= 2,730
= Off & 6,000 6,000
= 1,800
= 1,470
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SN SSBBY
H: S (SAL2H/S5HH)
e SXNE 23 (e &
SNBSS (BH) - MEAY - B2 o @(ijf;lﬁ% HRE2
= 2,730
©20208 & 04 MXlel N2 23 Mol
o MH|IAFS 6,000
= 1,800
= 1,470
= 2,730
20204 G DA HOIAEAT] 25O TA ] 6,000 0 6,000
3 1,800
== 1,470
o 2,730
401 AEH L 20| 6,000 0 6,000
= 1,800
== 1,470
o 2,730
01 Al&H| 6,000 0 6,000
= 1,800
= 1,470
iy 2,730
= 0ff & 6,000 0 6,000
= 1,800
= 1,470
= 2,730
020208 &= DA ZOIMS=U S3HH U
o HHIAY 6,000
= 1,800
== 1,470
o 2,730
20208 &= A AXE S3HIHOHLHEHE X 6,000 0 6,000
= 1,800
== 1,470
= 2,730
401  AlEHIL 2018 6,000 0 6,000
= 1,800
== 1,470
- 2,730
01 Al&HI| 6,000 0 6,000
= 1,800
1,470
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SN SSBBY
Yy 2 M (2L 2Z/23M)
o2l SXNE23M (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 AI&EHI = 2,730
= Off & 6,000 0 6,000
= 1,800
& 1,470
= 2,730
020208 = & AR ZStMetu® Hb|
Al 6,000
= 1,800
= 1,470
= 2,730
e 2EM USE =& 2 HHat IS5, HAS 100,000 0 100,000
H2o
= 50,000
= 50,000
401 AIZBIZ =208l 100,000 0 100,000
= 50,000
i 50,000
01 Al&HI 100,000 0 100,000
= 50,000
= 50,000
= 0l & 100,000 0 100,000
= 50,000
= 50,000
OLY 2EAMN UHSE HE & Hat JIEs
A (HAEEEA) 100,000
= 50,000
= 50,000
FEEIIMN BE 586,390 289,610 296,780
= 170,000
< 51,000
= 365,390
SAZSMAA 58,300 58,300 0
307 glztold 58,300 58,300 0
03 QAP ERIHES 58,300 58,300 0
= 0l & 58,300 58,300 0
OREBMAEsLUSH(NLE22T) 2l
29 XN& 44,000
OFEEFME-USA(NE=sR) &el2
SR 14,300
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SN SSBBY
Hu: 2SN (SHUBY/S )
thel: SEESM EE (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
dansa 2835 XA 115,000 118,220 AN3,220
= 46,000
= 13,800
= 55,200
307 QIztol M 115,000 118,220 A3,220
= 46,000
= 13,800
= 55,200
02 QIZBAAMNIEER 115,000 118,220 23,220
= 46,000
== 13,800
= 55,200
= 0ff &F 115,000 118,220 A 3,220
= 46,000
= 13,800
= 55,200
OSd0of~ 2o I(DAE=sR) 20,000
= 8,000
& 2,400
= 9,600
O2ZUIt ECt. L=0IJt 24 (E2E
o) 95,000
= 38,000
= 11,400
= 45,600
MMESIN ALY 250,000 100,000 150,000
= 100,000
= 30,000
= 120,000
307 gIztold 250,000 100,000 150,000
100,000
= 30,000
i 120,000
02 QUAHBMASEX 250,000 100,000 150,000
= 100,000
= 30,000
= 120,000
= Ol &t 250,000 100,000 150,000
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SH: 2HRB DL
H: S (SAL2H/S5HH)
¢4 LEISFMN B (cte ®
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;lﬁ% HRE2
03 OIZIHXBEES2IHIEX = 24,000
== 7,200
= 28,800
= 0l A 60,000 0 60,000
= 24,000
== 7,200
o 28,800
23z nSA aAHB(DE22Z) 30,000
= 12,000
== 3,600
o 14,400
S50z nSA AAH(DEsR) 30,000
= 12,000
= 3,600
= 14,400
HEAE B=HH| 496,534 167,804 328,730
= 188,267
== 90,040
= 218,227
NS A 24 MU (YA HHEA SF) 300,000 0 300,000
= 150,000
= 75,000
o 75,000
402 QI2tXE01HA 300,000 0 300,000
= 150,000
= 75,000
= 75,000
02 QUIAT2SAILEZ(OIMTHE) 300,000 0 300,000
= 150,000
== 75,000
iy 75,000
= 0f A 300,000 0 300,000
= 150,000
== 75,000
= 75,000
O HOAAI HHSE SHEZBA 300,000
= 150,000
= 75,000
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04 rx
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(J1EH)

0
0y

HJ

75,000

P}
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=
H0
0l0k

120,000

120,000

AMEHI X2

120,000

120,000

x

kJ
H0
0l0k
0
19
0x
e
H
e
e
1[3]
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120,000
120,000
120,000

120,000
120,000
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HOHH
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20,467
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AEBIX 28I

oW

M

40,934
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14,327
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40,934
20,467
6,140
14,327
40,934
20,467
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40,934
20,467

6,140
14,327

40,934

40,934

20208 &S At

ra

MR

35,600

17,800
8,900
8,900

35,600

NE=R: 1=t ).

W
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M

35,600
17,800
8,900
8,900

35,600

H

35,600
17,800
8,900

35,600
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SN SSBBY
H: S (SAL2H/S5HH)
ol WEAE 2EFH) CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
01 Al&HI| = 8,900
= 0l & 35,600 0 35,600
= 17,800
== 8,900
= 8,900
©20208 HEAIE YUTHAIAE REAS (=2
& AL) 35,600
= 17,800
= 8,900
= 8,900
X &EBIXEZ3HM 240,810 91,000 149,810
== 75,000
= 165,810
NEUXNE S3 A 90,810 91,000 A 190
401  AlEHIZL20iH] 90,810 91,000 A 190
01 Al&HI| 90,000 90,000 0
= 0l & 90,000 90,000 0
OXE - HXNEZSMH &bl 90,000
03 AIES0Hb] 810 1,000 A 190
= 0l & 810 1,000 A 190
OAl & 20| 810
OHSEMEH S22 XA} 150,000 0 150,000
== 75,000
= 75,000
401  AIEHIZL20iH] 150,000 0] 150,000
= 75,000
o 75,000
01 Al&H| 150,000 0 150,000
== 75,000
iy 75,000
= Ol & 150,000 0 150,000
== 75,000
= 75,000
OOt AMEH 23T A 150,000
== 75,000
= 75,000
S THH AR & 206,000 23,000 183,000
= 30,000
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SN SSBBY
Yy 2 M (2L 2Z/23M)
el M ALK (o2&
A EY - SA(B) - NS - B (X o) ) DS
= 9,000
= 167,000
LM H HA X 15,000 10,000 5,000
201  LBt249| 15,000 10,000 5,000
03 A2 15,000 10,000 5,000
= Off & 15,000 10,000 5,000
OZMHHa HALXEA 15,000
=t s MY 16,000 13,000 3,000
201  LBt249| 16,000 13,000 3,000
03 A2 16,000 13,000 3,000
= Off & 16,000 13,000 3,000
O2sMAE 2ESISA 16,000
SSSUETD RSEXAEY 100,000 0 100,000
401 AEHIZ=R0YI 100,000 0 100,000
01 Al&HI 100,000 0 100,000
= 0fl & 100,000 0 100,000
Osstsl=2= S Atg 100,000
HESLAL2S T S A 75,000 0 75,000
= 30,000
= 9,000
[ 36,000
307  QIztol™ 75,000 0 75,000
= 30,000
& 9,000
= 36,000
02 QIZBAAMNIEX 75,000 0 75,000
= 30,000
== 9,000
= 36,000
= 0fl &F 75,000 0 75,000
= 30,000
= 9,000
= 36,000
O3#E2 AM&, ot2%= List 75,000
= 30,000
= 9,000
= 36,000

_32_




SN
X ZH -
L=

el

Est2Z
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LEXILE A 22 ALY 10,000 55,000 A 45,000
201 LBt 49| 10,000 0 10,000
02 23293l 10,000 0 10,000
= 0ff &F 10,000 0 10,000
OREHUTLE wXl2a 10,000
=ZSHOINA A& SX 22 8,000 8,000 0
401 AI&BIZ =208 8,000 8,000 0
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SN 2sEBY
B RBIE(2HUTDY /DY)
thel: Z2AANES SN2 (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
01 A&l 8,000 8,000
= 0l & 8,000 8,000 0
Oc2t Al€2 KAl 2l 8,000
H=sd SR 2l At 9,000 25,000 A 16,000
201 LEt2I| 9,000 9,000 0
02 =524l 9,000 9,000 0
= 0l & 9,000 9,000 0
oXIIR= 750,000& =122 9,000
2ZANEE T2 23,000 0 23,000
201 eI 23,000 0 23,000
02 =524l 23,000 0 23,000
= 0l & 23,000 0 23,000
OaZANE= wA2el 150,000 x10H 123 18,000
OZZANEE I3 5,000
oYX SR ZHAS 2,017,500 2,222,500 A 205,000
= 1,000,000
= 500,000
= 517,500
NLX=mHEH 2SAHS 2,000,000 0 2,000,000
= 1,000,000
& 500,000
= 500,000
401 AIZBIZ =208 2,000,000 0 2,000,000
= 1,000,000
= 500,000
= 500,000
01 Al&HI 2,000,000 0 2,000,000
= 1,000,000
= 500,000
= 500,000
= 0l & 2,000,000 0 2,000,000
= 1,000,000
= 500,000
= 500,000
Oofl L X FHE HE AAIEAL 2,000,000
= 1,000,000
= 500,000
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SN 2sEBY
BN RTIE(2HUTDE /D)
©o: WUYTRESR XA AL (crol:za
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
| z 500,000
X = 2435 17,500 0 17,500
201  etg| 15,000 0 15,000
01 At 2teltl 15,000 0 15,000
= 0l & 15,000 0 15,000
Olexs N3 &8 =
150,000& » 30 = 23| 9,000
Oofl 2 EZ=CtX] IR = 1,000
Ol X =AY EE2E=2 M 5,000
202  Oibl 1,500 0 1,500
01 2L I 1,500 0 1,500
= 0l &F 1,500 0 1,500
ONLX =&Y FXaed SO 1,500
203 YR F&H 1,000 0 1,000
03 AHMFAHRLFAH| 1,000 0 1,000
= 0l & 1,000 0 1,000
Ol LXFae ANMFA HRFXH| 1,000
USEXNSS=AZNEL (R LT/ 362,000 850,000 A 488,000
& 183,300
= 178,700
PR NS 362,000 850,000 A 488,000
= 183,300
178,700
X L (LdEZ22X =4) 282,000 800,000 A518,000
= 183,300
[ 98,700
401 AI&BIZ =208l 282,000 800,000 518,000
& 183,300
= 98,700
01 A& 280,000 797,000 A517,000
= 183,300
= 96,700
= 0l & 280,000 797,000 A 517,000
& 183,300
= 96,700
OYSLAAX T4 (Mat) 280,000
= 183,300
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SN SSBBY
Hu: NZUDUTE 2ol(SHUBT/2EY)
co: ZEzE 2 CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
401 Al&HI 20| 100,000 600,000 A500,000
s 100,000
01 Al&HI 100,000 600,000 A 500,000
= 100,000
= 0l & 100,000 600,000 A500,000
fax 100,000
OUEATH IR HZHE olZet R2EA
& 100,000
ras 100,000
MBYEZ=AIEZH (ME) 600,000 400,000 200,000
= 390,000
[ 210,000
401 A&BIZ=2U8 600,000 400,000 200,000
= 390,000
= 210,000
01 A&l 597,000 397,000 200,000
= 390,000
= 207,000
= 0l & 597,000 397,000 200,000
= 390,000
i 207,000
ONMEBYHEZ=AE LAY 597,000
= 390,000
= 207,000
03 Al&=04Hl 3,000 3,000 0
= 0l &F 3,000 3,000 0
OMBHE=AIE ZTHAY AMER0YI 3,000
N+ A 100,000 650,000 A 550,000
Fay 100,000
401 A&BIZ =208l 100,000 650,000 A 550,000
= 100,000
01 Al&UI 100,000 647,000 A 547,000
s 100,000
= 0ff &F 100,000 647,000 A 547,000
= 100,000
O8O0l XUt 2 LA 100,000
= 100,000
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FA: 23221
MM AZUTYUDY ol (SSAUBZ/25HTH)
& ZE3E 2el (o2&
x 5 . 0 & o ol Ao -
SA B S (SH) - MEMY - BES = T BlRE2
SEF2Y EXO= 500,000 500,000
401 AEHIZ=R0YI 500,000 500,000
01 Al&HI 500,000 500,000
= 0fl &F 500,000 500,000
SEF2H EX0H= 500,000
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